Vedlegg 2

Utregninger






Etasjeskiller

CLT-element 200mm med 40-40-40-40-40 sjikt
bz = 1000 mm tl = 40 mm t2 = 40 mm t3 = tl t4 = t2 t5 = tl
CLI = 80 mm CL2 = 40 mm CL3 = O mm a4 = CL2 a5 = al

Api=b,-ty Agi=byety  Agi=byety  Ap=byety  Agi=byets

N
E,:=12000
mm

N
Eyi=0 ——
mm

Eq:=E,

E,:=FE,
Ey:=FE,

I:=528.10° mm*

Elp:= (B -I1+E Ay +0,") + (B I+ Ey-Ay-ay’)

El o= (B I+Eg-Ageay’ )+ (B, I+ Ey - Aya,” ) + (Bs I+ B+ Aga5”)
3
EIL,=EI, ; +EL,,=(2.515-107) X4M_
S

b:=b K£:=0.194

N

mm
N

mm?
G;:=G,

Gl = 750

GQ::O

G, =G,y
Gy5:=G,

GAgi=f+ (Gyobet))+(Gyrbety) + (Gorbety) + (Gyeboty) + (Gyebety) =(5.82+10°) N



L:=8500 mm q:=5.T7T —— Q:=3000 N

. L
Nedbgyning,, ... = TR 34 mm

Kontroll jevnt fordelt last
5 gq-L* N q-L?
384 EI,, 8-GA

wmidtq =
S

Kontroll punktlast

LB .L
WinidiQ *= < + <
48-EI,,, 4-GA,

Nedbgyning OK for begge laster

wmidtq = 24.546 mm

wmidtQ =2.621 mm



Tak

CLT-element 160mm med 40-20-40-20-40 sjikt

bil) = 1000 mm tl = 40 mm t2 = 20 mm t3 = tl t4 = t2
a,;'=60 mm ay,:=30mm a3:=0mm a,:=a, a5:=0a,

Al::bw.tl A2:2b$'t2 A3::bw‘t3 A4::bw’t4 A5::b$.t5

E,:=12000

mm
N

E,:=0 —
mm
Es:=E,
E,:=FE,
Eq:=FE,

I:=304-10° mm*

Elp:= (B -I1+E Ay +0,") + (Ey- I+ Ey-Ay-a,’)

Elp=(ByI+Es-Ageay’ )+ (B, I+ Ey - Ay-a,” ) + (s I+ B+ Az a5”)

kg-m?

2
S

EInet ::EInetl +EInet2 = <144 . 107>

Gl = 750

G2 = 440

G;:=G,
G,:=G,y
Gy:=Gy

GA =k ((Gy2b1)) + (Gyoboty) + (Gyrbety) + (Gyrbety) + (Gy-bety))



N
L:=9700 mm q:=5.06 ——
mm

. L
Nedbgyning,, ... := g =38.8 mm

5 q-L4+ q-L*?
384 EI,, 8-GA,

Wnidt = Wypqe =44.673 mm

Nedbgyning ikke OK!

CLT-element 200mm med 40-20-40-20-40 sjikt
bil?:: 1000 mm tl = 40 mm t2 = 40 mm t3 = tl t4 = t2
a,:=80 mm a,:=40 mm az;:=0mm ay:=a, as:=a,

Aji=byety Agi=byety,  Agi=byety Ayi=byet,  Agi=b,ets

E, :=12000
N

2
mm

Es:=FE,

E,:=0

E,:=FE,
E;:=E,

I:=528.10° mm*

El:= (B, - I+E -A+a,* )+ (Ey-I+E,-Ay-a,”)

El,i= (B I+Eg-Agea;’ )+ (B, I+ E, - Aya,” ) + (Es I+ E5+ Ag-a5”)

kg-m’®

82

El,;:=EI, ., +EI, .= (2.515:10")

b:=b k:=0.194

x

N

mm

Gl = 750




N

mm

G2 = 440

G;:=G,
G,:=G,y
Gy:=G,

GA =k ((Gyob1)) + (Gyoboty) + (Gyobety) + (Gyrbety) + (Gyrbety))

L:=9700 mm q:=5.06 l
mm

L
Nedbgyning,, ... :=——=138.8 mm
YMINGmar 250

5 q-L4+ q-L*
384 EI,, 8-GA,

Winidt = Wpidt = 26.246 mm

Nedbgyning OK



